
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 81

61 hm = 61000 dm

23 dam = 2300 dm

24 hm = 24000 dm

47 dam = 470000 mm

38 m = 380 dm

45 m = 45000 mm

95 m = 950 dm

14 km = 1400000 cm

74 km = 7400000 cm

91 dam = 910000 mm

160000 m = 16000 dam

240000 cm = 240 dam

280000 mm = 28 dam

770000 cm = 770 dam

7000000 cm = 700 hm

740000 m = 74000 dam

96000000 m = 96000 km

75000000 cm = 750 km

63000000 mm = 63 km

130000 cm = 130 dam

72 hm  et 25 mm = 7200025 mm

11 hm  et 53 mm = 1100053 mm

56 hm  et 73 dm = 56073 dm

84 hm  et 20 cm = 840020 cm

42 km  et 50 dm = 420050 dm

55 dam  et 27 mm = 550027 mm

55 m  et 76 dm = 626 dm

7 km  et 84 cm = 700084 cm

84 m  et 66 mm = 84066 mm

61 m  et 3 dm = 613 dm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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